FEARZ2020FEFTHREEEEFVBMNAFHEAE (65, 75) s

| A ‘ ‘ ‘ mik | @ | o | FreE | -
o | | FREEERA (& L 4 FR BRI Be || BES IR SR | THARSR | B SR | IR | & TE
g5 5 Bt | kSt (50%) (50%)

1| 6 | 3L R P 2 B H 2L U 1 FEik | %« 2 [fhnik] 84. 20 84.20 | 1
2 | 6 |HEREF PH 2 B H 2L U 1 7 1 it 67. 20 67.20 | 2
3| 6 |@EihkE 280 B B 2 B i i EE R I UM 1 ZR| % 2 | Hnik] 84.60 84.60 | 1
4] 6 | HERA 280 i B AE B I e BB U 1 7 1 |Gt 75.80 75.80 | 2
51 6 |k 25 7 T A e P T T L oM 1 sk | & 1 | fhnik] 81.80 81.80 | 1
6 | 6 |HEKREF vl J 3 SRR 4 BR | B 3 |%hnif] 82.60 82.60 | 1
7| 6 |EILKE vl J 3 SRR 4 M5z | 5 1 G| 79. 40 79.40 | 2
8| 6 |#EiL K R E &4 e 4 sRAESR| & 2 | Hnik] 76. 60 76.60 | 3
9 | 6 |HEKEH e 2 Bt /N BE L BT 1 JEAMH | & 2 | Hnik] 82. 20 82.20 | 1
10| 6 |[#Eimk HE AT 2 E I HEHN 1 IRFEE 5 1 | fSdnik] 79. 40 79.40 | 1
11| 6 [#EimK* R E LT 1 XEH| B 3 |hnik] 85. 20 85.20 | 1
12| 6 |#EihK# A = 2N 1 5 4 k] 69. 20 69.20 | 2
13| 6 |#Eimk# R = 2N 1 7 2 | Hnik] 67.00 67.00 | 3
14| 6 | &kl KA EHH =T 1 5’8 1 G lik| 65. 20 65.20 | 4
15| 6 [k SRR R R (SR Ui 1 rom | 5 3 |%hnik] 87.20 87.20 | 1
16| 6 |k ARG R R (SR i 1 5 1 | fhnik] 60.00 60.00 | 2
17| 6 |k ARG R R (SR #Uif 1 7 2 | Hmik] 54.00 54.00 | 3
18| 6 |IEKRZF |  ZIRZRE S RRETIWANE 2RI S HIN 1 & | & 3 |fhnidk] 88.60 88.60 | 1
19 6 [HEREE]  ZARZEE RRESIRNE ZARTE FHN 1 7 2 |%hnik] 58. 80 58.80 | 2
20 [ 6 |RERE|  ERZEBEE R LN E ZIRTR S HUT 1 5’4 1 | fSdnik] 57. 80 57.80 | 3
21| 6 |#Ed K RO 2 Bl 1 &P | & 1 Gnik| 76. 40 76.40 | 1
22| 6 | 3Ei K2 Hifg 2 B g 5 1 VR % 2 |HJmid] 83. 20 83.20 | 1
23| 6 | FE K HhE 2 B b S R 1 Z 1 G nik| 78. 32 78.32 | 2




| N N - m | mw | om | ek .
) s R AL < oL 44 TR BETRIS | w8 (MR B R | TG | RS | B St | B IR | &iE
(50%) (50%)
24| 6 |WEIH K Hh I Bl 5 A 1 % 3 [Hdmik] 71. 60 71.60 [ 3
25| 6 | SEIKR2E i 2 B g 5 o 1 5 4 1 Hmnik] 67. 40 67.40 | 4
26| 6 | FEil K2 TAERi s A 1 K | & 1 [fnik] 78. 20 78.20 | 1
27| 6 |3l K2 TP TR CEIJES D 1 FiEE| & 1 [fnik] 81. 00 81.00 | 1
28 | 6 |#Eih K LB S A 1 Rl %« 1 [k 73. 40 73.40 | 1
29| 6 |#Eih K A2 B g 1 EHZ| & 2 |#%hnik] 85. 00 85.00 | 1
30| 6 | SEIKR2E P B 5 1 5 1 [ Sdnid] 72. 20 72.20| 2
31| 6 |#Ein K HERH SR (FERF 1 TKFEB| & 1 [fnik| 75. 80 75.80 | 1
32| 6 | s K2 NSCH SR 22 Bt L A 1 Ul | %« 2 |Hhnik] 79. 40 79.40 | 1
33| 6 |FEi K2 NS B 2Bt it AR S 1 7 1 [fnik| 75. 60 75.60 | 2
34| 6 | FEi K2 NG R e R e X 1 7 3 |Hhmik] 71.80 71.80 | 3
35| 6 | ZEIKF NSk B 22 Bt 5T AR 4 S 1 7 4 1 Hmik] 71,20 71.20 | 4
36| 6 | FEi K2 RGP A 5 0 1 REE 5 1 [fnik] 81. 20 81.20| 1
37| 6 |IEIRA JIYE AR S A (CEJIR S D 1 HE®#| & 1 [fnik] 84. 60 84.60 | 1
38| 6 |FEil K2 N R A 1 TR %« 1 ik 80. 60 80.60 | 1
39| 6 | FEi K2 B E Bk S0 1 £ 3 |hmik] 77.20 77.20 | 2
40 | 6 | FEIREE &g =Bk S i 1 7 2 | nik] 74. 20 74.20 | 3
41 6 |FEI K2 I E Bk S 0 1 58 4 |Hhnik] 73. 60 73.60 | 4
42| 6 | JEI R 2B 1 JiEaE| & 1 |%init| 74.80 74.80 | 1
43| 6 | ZE R = 5B 1 SCHIS| & 1 | %int] 7720 77.20 | 1
44| 6 | FEI K2 = 5B 1 58 2 |Hhnik] 75. 20 75.20 | 2
45| 6 |#Eil K SARFE A R 1 sKIER B 1 [fmik| 80. 00 80.00 | 1
46 | 6 |Ein KA SARZBLA S R 1 58 2 |Hhnik] 72. 00 72.00| 2
47| 6 |IEIL KR s - [ A 9 PP o 20 N T 1 REH| « 1 ik 80. 00 80.00 | 1
48| 6 | IEIH K -5 [ 5 O B0 1 7 4 | Hhnik] 76. 80 76.80 | 2




| N N - m | mw | om | ek .
o | o | TEERAL < oL 44 TR BETRIS | w8 (MR B TG | RS | B St | B IR | &iE
A B BT 0n) | (50%)

49| 6 |IEIH KR -5 i 5 PO B0\ 1 7 3 |Hhmik] 73.80 73.80 | 3
50 | 6 | ZEi KA s et - [ F 5 PO\ I 1 5 2 Sk 72. 40 72.40 | 4
51| 6 |#Ein K Hh I 2 BRI R 5056 5 1 i | & 2 |Hhnik] 80.40 80.40 [ 1
52| 6 |IEin KA Hh g 5 B AR B 7 S8 1 7 3 |#hmik] 78.80 78.80 | 2
53 | 6 |#Eih K Hh g 7 B A B 7 S 1 7 4 |Hhnik] 77.80 77.80 | 3
54 | 6 |IEih KA Hh g 7 B AR R S 1 7 1 [fnik] 68. 80 68.80 | 4
55| 6 | il K i 2 B Hh B SR SR 58 1 T5 | % 1 Sk 81.80 81.80 | 1
56 | 6 | ZEIIKE FE A 58 7= AL A B 0 SEES B 1 AR | & 4 |Hinik] 82.80 82.80 [ 1
57| 6 | JEil R FE A 58 = B AL A0 B 0 S O 1 7 3 |Hhmik] 71.60 71.60 | 2
58 | 6 | SEilR FE A 58 BEAL A0 B 0 SE S D 1 7 1 [k 71. 40 71.40 | 3
59 | 6 | SEilR A 58 BRAL A3 B 0 S S B 1 7 2 |Hnik] 71,20 71.20 | 4
60| 6 |%Eil K2 A 7= BEAL S IR Zh ) 0 SRS 1 HigR| & 1 | %hnit] 81.00 81.00 | 1
61| 6 |iEin K E A 7S EAL L R G4 R 1 NCES TS 1 |%hnit 78. 20 78.20 | 1
62| 6 |FEil K2 THRIIE 55 Ak i g 1 AOLE|] B 2 [Hnik] 80. 60 80.60 [ 1
63| 6 |#Eih K TH R 55 Ak H g 1 7 1 [fnik| 66. 00 66.00 | 2
64| 6 |IEIH R KRB RS TS A 1 MFM| & 3 |Hmit] 85. 20 85.20 | 1
65| 6 | FEi K2 BB RS TR SIS A 1 7 1 it 73.60 73.60 | 2
66| 6 |Ei KR KRG RS ARSI A 1 5 2 |%hnik] 70. 60 70.60 | 3
67 | 6 |ZEH K RilE 5 B B\ 1 VR & 1 |%init] 82.20 82.20 | 1
68| 6 |ZEH K B A AR 1 W] 5 2 [Hhnik] 81. 20 81.20 | 1
69| 6 |FEil K2 H b TR R 1 58 3 |#%nik] 76. 60 76.60 | 2
70| 6 | MEKA H T Ab TAE R F 1 7 1 [ fdnid] 74. 20 74.20 | 3
71| 6 | GEKE ] 0 T e SR A T R 3 K2R & 1 [fnik] 82. 60 82.60 | 1
72| 6 | GEKE ] 0 ] e SR A T 3 TEE| & 9  |#unik] 81.00 81.00| 2
73| 6 | FEKEF ] T e SR A T D 3 BRER| « 6 |fhnik] 79. 60 79.60 | 3




| - mit | ww | e | e -
o | o | TR B L 4 FR BRI we R IR RS | R SE | B RSt | B IR | &E
T F S| BB\ 50 | (50%)

74| 6 | GEKE ] 0 P A e SR A R T R 3 S 7S] 76. 12 76.12 | 4
75 6 | mEKE Pl 5 U A B Sk A U 3 5 3 | %hmik| 75. 52 75.52 | 5
76| 6 |#ELKRF ] 0 P A e SR A TR R 3 5’4 8 [Hhnik] 75. 40 75.40 | 6
77| 6 |#EL R ] 0 P A e SR A TR R 3 5’4 5 |Hmid] 74. 60 74.60 | 7
78| 6 |#EL KR V] = P A e SR A T R 3 5’4 2 |Bhnik] 73.48 73.48 | 8
79| 6 |#EL KR @%?ﬁﬂﬁﬁ%irﬁk@iﬁ?ﬁﬁ 3 5’ 10 || 73.06 73.06 | 9
80 | 6 |l K %‘fﬁﬁﬂ%irﬁﬁi‘ TE 7 3 5 4 [Fpnik] 71.80 71.80 | 10
81| 6 |ZE K 2H 0 e R 1 T [ B 4 | Hmik] 79. 80 79.80 | 1
82| 6 |ZE K 2H 2 S R U\ 1 5’4 1 |Gt 74,22 74.22 | 2
83| 6 | K e PN 1 5’4 2 |Bhnik] 72.76 72.76 | 3
84| 6 |ZE K e PN 1 5’ 3 ik 72. 26 72.26 | 4
85| 6 |ZE K k%ﬂﬁl%ﬁﬁ}u 1 FAEE] & 1 G| 71. 40 71.40 | 1
86| 6 |ZEi K ORISR 1 AEE B 2 |[Shnik] 80. 40 80.40 | 1
87| 6 | K oK IR 5% 1 ) 1 |5t 72. 40 72.40 | 2
88| 6 | K A AE L IRFE I ELE R 1 s B 5 |%hnid] 82.00 82.00 | 1
89| 6 |#Eil K2 P AAE L IRFE R ELEL R 1 5’ 6 [fhnik] 73.40 73.40 | 2
90 | 6 |[ZEIKEH H5 AAE 2R R B R} R 1 5 7 | %hnik| 70. 60 70.60 | 3
91| 6 |#Eil K2 B AR IR IR EL 1 Ei) 3 || 70. 40 70.40 | 4
92| 6 | K A AE L IRFE I ELEL R 1 S 2 | Hhnid] 70. 00 70.00 | 5
93| 6 | K A AE L IRFE I ELE R 1 S 4 | Hhnik] 68. 40 68.40 | 6
94| 6 | Ll K2 P A AE L IRFE R ELE R 1 5’ 1 |%hnit] 65. 40 65.40 | 7
95 6 |ZEKE 225 8 B AR B AT BB 1 1 T & 2 |finidk] 82. 20 82.20 | 1
9 | 6 |ZE K 5 P AT R TS 1 5 1 G| 72. 60 72.60 | 2
97 | 6 | il K2 LT B AR R 1 T7 | &« 1 |t 84. 46 84.46 | 1
98 | 6 |ZE K 2 T3 B RLRL 1 5’4 3 |fHmik] 77. 68 77.68 | 2




| N N - m | mw | om | ek .
o | o | TEERAL < oL 44 TR BETRIS | w8 (MR B TG | RS | B St | B IR | &iE
T B BT 0n) | (50%)

99 | 6 |#Ei K LB E R A 1 S 5 [Hlmik] 75. 38 75.38 | 3
100| 6 | ZE KA =TT B AL 7 1 7 4 1 Hmik] 74. 20 74.20 | 4
101] 6 | &k K2F 2 TR B AL 7 1 L 2 S| 72. 42 72.421 5
102] 6 | ZE K2 F LB E RN 1 HhEE B 7 |fhnik] 82. 74 82.74| 1
103 6 |#EilkeE T EREA 1 S 3 [Hmik] 78. 00 78.00 | 2
104 6 |zl ks T ERERA 1 S 5 [Hlmik] 73. 86 73.86 | 3
105 6 | ZESLK2E ¥ LA E AR A 1 7 6 [fhnid] 72.82 72.82 | 4
106] 6 | ZEL K2 S LHEE RE R 1 7 2 |Hhnik] 72. 26 72.26 | 5
107 6 |zl ks T E FHEA 1 S 4 |Himik] 72.20 72.20 | 6
108 6 |#EilkeE T E REA 1 S 1 |%hnifk 70. 60 70.60 | 7
109] 6 | ZEiL K2 WRIIAETIENR 1 T | 5 1 ik 84. 00 84.00 | 1
110| 6 | ZEQ R WRINANETAENG 1 7 2 | nik] 77.40 77.40 | 2
11| 6 |k Wt 5026 B st 7 BRI 1 | & 4 |Hinik] 80.40 80.40 [ 1
112] 6 | ki K2E WE 50 A Bt s 72 BLEL 1 u 5 St 73. 20 73.20 ] 2
113 6 | ki K2f WF 50 A B s 72 BLEL 1 L 6 Sfnit| 73.00 73.00] 3
114] 6 | ZE K2 Bt e AR B 2 B R A 1 58 1 [fnik 67. 60 67.60 | 4
115] 6 | ZEd R Bt FUAE B 72 B R 1 7 3 |fpnik] 67.40 67.40| 5
116| 6 |#E K2 Wt 5026 Bt 7 BRI 1 S 2 |Hinik] 67.00 67.00 | 6
117] 6 | ZE K2 WIF 70 AE Bt % MV 2R A B FE R B 1 & | & 3 |#%hmik] 80. 40 80.40 | 1
118] 6 | ZEil K2 HIF 70 AE Bt % NV 2R A B FE R 1 7 2 |Hhnik] 74. 80 74.80 | 2
119] 6 | ZE K2 W A B T Ml 2 A 5 BB 5 1 7 4 | Hhnik] 74. 40 74.40 | 3
120| 6 | kKA HEFLAE Bt b 22 A B 1 7 1 [ fSdnid] 73.20 73.20 | 4
121| 6 |3k Wt 5 26 B Tl 25 A 5 2R R A 1 S 5 [Himik] 72. 40 72.40 | 5
122] 6 | ZEiL K2 HIF 70 AE Bt % MV 2R B FE R 1 7 6 |fhnik] 71.40 71.40 | 6
123 6 | ki K2E Wi AR Bt T b 2 BB T 1 L 7 St 70. 40 70.40 ) 7




| N N - m | mw | om | ek .
o | o | TEERAL < oL 44 TR BETRIS | w8 (MR B TG | RS | B St | B IR | &iE
T B BT 0n) | (50%)

124] 6 | ZE KA W A B T Ml 2 A6 5 BB 5 1 7 8  |#uhnik] 67.60 67.60 | 8
125| 7 | Sk KA TN ] 1 S | % 2 | fnik] 79.00 79.00 | 1
126 7 |mEinkeE TN (2 1 % 1 |%hnik| 74. 80 74.80 | 2
127] 7 |Gk KA FEARZ AL IS BT T HUm 1 i | 4 |Hhnik] 84. 00 84.00 | 1
128] 7 | &k KA FEARZ AL IS BT T BT 1 7 1 [k 72. 40 72.40 | 2
129] 7 | &k KA FEARZBEAR AL B R 1 5 2 |Hhnik] 72. 40 72.40 | 2
130 7 | #EIREE FAR B AL B B Ll B 1 7 3 il 69. 60 69.60 | 4
131 7 [JEd K% AR S RRE TSR R (%) #U 1 | & 1 |%nit] 88. 60 88.60 | 1
132 7 |k =R S R (CEJIR S D 1 eF | & 1 [fnik] 83. 60 83.60 | 1
133| 7 |#EdKEE =B S . (CEJIR SR 1 7 2 |Hnik] 72. 40 72.40 | 2
134] 7 | &k KA g Bl 3 0 (RS0 1 54 3 Ak 72. 40 72.40 | 2
135 7 | &ESLOKEE SUPEHSRHT R (FES ) 1 SERA| K 1 it 79.20 79.20 | 1
136] 7 | &k KA KBS R 1 FEH | & 1 [fnik] 82. 60 82.60 | 1
137] 7 |Gk KE KBS 7 1 7 3 |Hhmik] 75.00 75.00 | 2
138] 7 |Gk KA KBS 1 5 2 |Hhnik] 72. 00 72.00| 3
139] 7 | &k KA REEBEAF 1 58 4 |Hhnik] 70.80 70.80 | 4
140| 7 | BEQREF Jiyu A et e AR Al 2 1 Tl | & 2 | fnik] 84.00 84.00| 1
141 7 |z R I Bt Fe AR Sl 2 1 7z 6 [fhnid] 83.00 83.00| 2
142] 7 |Gk KA I A B it 7T AR il 5 1 7 3 |Hhmik] 76. 12 76.12 | 3
143] 7 | &k KA I A7 B ik 7 AR Al 5 1 7 4 |Hhnik] 75. 80 75.80 | 4
144 7 |ZE R I 27 e Ak 7 AR Al 5 1 7 1 |%inist| 75. 60 75.60 | 5
145) 7 | RERE Jiyu A et T AL il 2 1 7 5 |#inik] 62.60 62.60 | 6
146| 7 |3E K EEN B R I 1 k| & 6 |%hnik] 80. 60 80.60 | 1
147] 7 | Gk KE EEEE B R TIT 1 7 2 |Hhnik] 78. 60 78.60 | 2
148| 7 | fEI KA EENEE B SRS ) 1 5 3 |%hnik] 76.00 76.00 | 3




| N N - m | mw | om | ek .
o | o | TEERAL < oL 44 TR BETRIS | w8 (MR B TG | RS | B St | B IR | &iE
T B BT 0n) | (50%)

149] 7 | #Ei KA EENGEEIE I EES ) 1 7 1 [fnik| 74. 70 74.70 | 4
150| 7 | #EL K2 P TE AT HARY G B 1 7 5 |fpnik] 74.00 74.00 | 5
151 7 |k EESGEI B EE S T 1 S 4 |Simik] 72.80 72.80 | 6
152 7 |ZE R AR TS BRI 1 iRk B 1 |%init| 81.80 81.80 | 1
153 7 | &k KA AR B SIS 0 S 1 EEH| « 1 [fnik] 82. 00 82.00 | 1
154] 7 | ZE KA AR B SIS 0 S5 1 7 2 |Hhnik] 78. 60 78.60 | 2
155| 7 | HESL K2 A 5 Bt S B R 0 SE IS IR 1 7 3 |fpnik] 67.20 67.20| 3
156| 7 | &k KA RIEIRIAEE} 51 2 PNE| & 2 |%hnik] 83.40 83.40 | 1
157] 7 |Gk KA RIEIRIALE} 51 2 AF | B 3 |hnit] 82. 40 82.40 | 2
158] 7 | &k KA RIBRRIALFL 51 2 7 10 | %hnik] 74. 60 74.60 | 3
159 7 |3k R T 5 2 LS 9 |Hhmik| 74.40 74.40 | 4
160| 7 | #EL K2 KRB FL 51 2 7 11 S| 74. 40 74.40 | 4
161] 7 | &k KA RIEIKIAEE} 51 2 7 1 [fnik 72. 60 72.60 | 6
162 7 | "k K2 R K AL E} 2 u 4 Snit| 72. 60 72.60 ] 6
163] 7 | ZE KA RIBRRIALFL 51 2 7 8 |Huhnik] 72.00 72.00| 8
164] 7 | ZE KA RIEMRIAEE} 51 2 58 5  |%hnik] 71.00 71.00 | 9
165| 7 | #EL K2 RIBEFLIALFL 51 2 7 6 |%nik| 70.00 70.00 | 10
166| 7 | %k KA RIEIKIAEE} 51 2 7 7 |%hnik] 69. 60 69.60 | 11
167 7 | EKE# N SRR AL 55 R R A 1 SRA B 2 |Hhnik] 79. 20 79.20 | 1
168 7 | KA N BHIR A AL 5 SRR 1 7 1 [fnik] 75. 60 75.60 | 2




